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apanese workers should be allowed to take th
times of the year instead of all at the same time|There are three reasons
for this. First, when a large number of people travel by car at the same

eir vacations at different

time, there are always heavy traffic jams on most major highways. Lines
of cars sometimes get as long as fifty kilometers during the popular
vacation times, such as the Obon period and the New Year season. It is
very painful to be in a car which is stuck in a traffic jam for many hours.
Second, it is expensive to reserve a seat on a train during the vacation
seasons. Japan Railways (JR) places a surcharge on train tickets for these’
times. Moreover, they do not allow passengers to use any discount
coupons, either. Therefore, it is a tough time for students with limited
funds to travel by train. Finally, most sightseeing spots get hopelessly
crowded during the vacation seasons.No one enjoys being at major tourist
attractions when they are overwhelmingly packed with people on
vacation. If people were able to take| their vacations at different times of
the year, everyone could have a good time. For these three reasons,jt is
clear that the Japanese workers should not all go on their vacation af the
same time, as they do now.
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